3aranbHi
NMUTaAHHSA




-

1. OoHa coTa yacTuHa
MeTpa.

Bianosiab: 1 cm



2. 71K reOMeTpPUYHI

dirypu gpyxaTtb I3
COHLUEeM?

Bianosiab: npomeHi



K -

3. Kpuwika ctony mae
4 KyTn. [1Ba KyTI
3pi3anu. CKINbKU KYTIB
3anuMuunnochb?

Bianosiab: wictb



K -

\

g
4. [Nlapa KoHeu npodirna

30 KM. CKINbKk®
KifloMeTpiB Npooir
KOXEeH KIHb?

Bianosiab: 30 km



5"

5. CKINNbKU XBUNMUH B 1,5
roovHu?

Bianosiab: 90 x8



KN -

6. IM's1 AKOI KA3KOBOI
repoiHi noxoAuTb BIiA
oAVHULUI BUMIPIHOBaHHSA
OOBXWUHU?

Binnosigb: [Jroumosouka



W
)

7. CKINbKU HYNIB Yy ABOX
MifTbUOHaX?

Bianosiab: wictb



8. KyOI4yHiI meTpu — LUe
oAVHULUI BUMIPIHOBaAHHSA
yoro?

Bianosiab: 06'emy



9. Homy OOpPIBHIOE
3Ha4YeHHA Bupasy 2°?

Bianosigb: 16



KN -

10. Ik Ha3BaEeTbLCHH
YUCITOBUU MHOXHMUK
nepen OyKBeHUM
BUpPa3oM?

Bianosiab: koeilieHT



